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הביעו  באמצעות...
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הכתיבה  בשורת  הפתרון:  משמאל  לימין.
1. נתון  log52 = a.  הביעו  באמצעות  a  את  log58.   
· log58 = l0g5__3 = 3_______ = ____
2. נתון  log52 = a.  הביעו  באמצעות  a  את  log5½.
· log5½ = l0g5__-1 = ________ = -___
3. נתון  log52 = a.  הביעו  באמצעות  a  את  log5200.
· log5200 = l0g5(8.___) = _______ + _____ = 3log5__  + ___ = ___ + 2
4. נתון  log52 = a.  הביעו  באמצעות  a  את  log510.
· log510 = l0g5(2.___) = _______ + _____ = log5__  + ___ = ___ + __
5. נתון  log52 = a.  הביעו  באמצעות  a  את  log52.5.
· log52.5 = l0g5(5:___) = _______ - _____ = log5__  - ___ = ___ - __
6. נתון  logaba = 4.  חשבו  את  logabb.
· logab b = l0gab(__:__) = _______ - ______ = 1 - ___ = -___
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נתון  log63 = a.  הביעו  באמצעות  a  את  log68.
· log68 = l0g6___ = 3_______ 
log62 = log6(__:__) = _____ - _____ = 1 - __               (   
log68 = _______        
8. נתון  log126 = a.  הביעו  באמצעות  a  את  log1227.
· log1227 = 3log12___ = 3_______ 
log123 = log12(__:__) = _____ - _____ = a - ____               
log122 = log12(__:__) = _____ - _____ = 1 - __            (                      log1227 = ____
9. נתון  log305 = b,  log303 = a.  הביעו  באמצעות  a  ו b  את  log308.
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תשובות:  1.  2a  2. –a  3. 3a + 2   4. a + 1  5. 1 – a  6. 3-   7.  3(1 – a)  8.  3(2a – 1)
                 9.  3(1 – a – b)























































































עבודה  נעימה
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